
H-

P-

2pcs

  The Parts of Sliding Wardrobe

pcs

K-

C-

D--

E-

M- 

N-

M5X10 self-tapping wire

pcs

pcs

pcs

pcs

pcs 1pcs

1pcs

1pcs

pcs

pcs

pcs

pcs

pcs

F-

pcs

J-

            Installation Steps

1pcs

1

3

2

Put C and A, D and B, and C a 
nd D in terms of 
M5*10 self-tapping wire conn 
ection

O and side connection, N and side con 
nection, O on the hook aligned with the
 holes in A,B downward pressure conn 
ection, the back with M5 * 10 self-tapp 
ing screws to strengthen the

3 Attach E and F with M5*10 self-tap 
ping screws. 4 Attach G with M5*10 self-tap 

ping screws.

5 Attach I and K. K is fixed with M 
5*10 self-tapping wire.

6 Push the J inward against the tab.
7 Push the inner frame inward aga 

inst the tabs. 8 Attach H with M5*10 self-tapping scr 
ews.then assemble the P

9

Install L first, then M. Installation s 
hould be done with the positioning 
block on the door aligned with the r 
ound hole in the top frame lifting up 
ward, and the wheel below aligned 
with the chute.。

A

B

E
O

C

D

H

P

N

F

I

K
J

L

M

PZha
ngz
hou
 Ji
anr
ong
 Fu
rni
tur
e C
o.,
 LT
D

AutoCAD SHX Text
O-顶框

AutoCAD SHX Text
1件

AutoCAD SHX Text
A-左侧板ll

AutoCAD SHX Text
B-右侧板

AutoCAD SHX Text
L-铁门

AutoCAD SHX Text
30个

AutoCAD SHX Text
1件

AutoCAD SHX Text
1件

AutoCAD SHX Text
1件

AutoCAD SHX Text
1件

AutoCAD SHX Text
1件

AutoCAD SHX Text
1件

AutoCAD SHX Text
1件

AutoCAD SHX Text
1件

AutoCAD SHX Text
1件

AutoCAD SHX Text
1件

AutoCAD SHX Text
G-中竖隔

AutoCAD SHX Text
I-隔板

AutoCAD SHX Text
M5X10- 4

AutoCAD SHX Text
M5X10- 4




